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Question Number : 1 Question Id : 39226622921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The richest and the most threatened reservoirs of plant and
animal life on the Earth

b Zoo parks
2, Aviaries

-

3, Endangered Zones

4, Bio diversity hotspots
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Question Number : 2 Question Id : 39226622922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He wrote a book titled ‘Bhavani Mandir® during the partition
days of Bengal

1. Rabindranath Tagore
2 Aurobindo Ghose
3. Bankimchandra Chatterjee

4. Devendranath Tagore
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Question Number : 3 Question Id : 39226622923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct match pair from the given below

i Ustad Amjad Ali Khan a. Tabala
il Ustad Bismillah Khan b. Flute
ii.  Zakir Hussain 3 Sarod
iv.  Hariprasad Chaurasia d. Shehnai
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Question Number : 4 Question Id : 39226622924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Globally. India has become the second largest producer of

1. Gold

2. Steel

3. Silver
4. Coppar
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Question Number : 5 Question Id : 39226622925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Author of the book “The Tiger Elephant and the Cell Phone’ 1s
1. Pinarai Vijayan
2. Pranai Rai

Vandana Sinha
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Question Number : 6 Question Id : 39226622926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following games and it’s related words correctly

I Bridge a. Knight

ii. Cricket b. Penhold

iii.  Chess E. Trumps

iv.  Table Tennis d. Stonewalling
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Question Number : 7 Question Id : 39226622927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer regarding Armed forces and it’s

formation

1. Central Reserve Police Force a. 1969
ii. Rapid Action Force b. 1939
1. Commando Battalion for Resolute Action  ¢. 1992
iv. Central Industrial Security Force d. 2008
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Question Number : 8 Question Id : 39226622928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose correct answer regarding Paris Olympics-2024
a. 754 competition sessions, 5084 medals.
b. First Olympics with 100% gender parity
& Phrygian cap is the mascot
d. India bagged 6 medals
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Question Number : 9 Question Id : 39226622929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In T20 matches, the Indian batsman to have the highest
personal score record.

E Rohit Sarma

8. Abhishek Sarma

Surya Kumar Dube

4, Tilak Kumar
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Question Number : 10 Question Id : 39226622930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Budget allotted to Defense for the financial year 2025-26 1s
1. 6.22 lakh crores
2. 6.78 lakh crores

68 lakh crores

4, 6.81 lakh crores
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Question Number : 11 Question Id : 39226622931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Indian student who got an opportunity to name the asteroid
discovered by him from NASA

1. Jyothika Sti

2 Daksh Malik

Akkineni Mounika

4. Vaisali
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Question Number : 12 Question Id : 39226622932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

India 1s going to construct a reservoir with a capacity
of 325 TMC on Brahmaputra river at this place in
Arunachal Pradesh

1. Roing
2. Tezu
3. Parang

4, Bomdila
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Question Number : 13 Question Id : 39226622933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The main aim of Automatic Testing Stations of Transport
department in our state 1s

1. Road repairs

2 Control vehicle speed
3. Monitoring truma care centres
4, Issue fitness certificates to vehicles
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Question Number : 14 Question Id : 39226622934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Archeological Department of this state released a book
‘Antiquity of Iron” and also stated that Iron Age was first
started 1s the same state

1. Rajasthan

2. Kerala

3. Tamil Nadu
4. Bihar
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Question Number : 15 Question Id : 39226622935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Under PM Rashtriya Bala Puraskar Awards, in 2024 Bravery
award was received by

L Keya Hatkar

2. Ayaan Sajad
¥ Vyas Jignesh
4. Saurav Kumar
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Question Number : 16 Question Id : 39226622936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose incorrect statement from the following

g Surekha Yadav is the first woman driver to run Vande
Bhart Tramn

2. Mirabai Chanu won BBC Indian sports woman for the
year 2025

3. Emma Stone won Oscar-2024 award of best actress
4. Opal Suchata Chyang Sr1 crowned miss world - 2025
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Question Shuffling Allowed : Yes

Question Number : 17 Question Id : 39226622937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Maktab’ 1s an Islamic

1. House

-2

Primary School
3. Hospital
4. High School
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Question Number : 18 Question Id : 39226622938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The chairman of Secondary Education Commission (1952-53)
1 Dr. D.S. Kothari

2. Dr. Lakshmana Swamy Mudaliar

Ishiwarbhat Patel

4. Prof. Yashpal
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Question Number : 19 Question Id : 39226622939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This prepares School leadership. Educational plans at National
level
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Question Number : 20 Question Id : 39226622940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are important in Naturalism curriculum
A Priority to present

B Rigid curriculum

C. Sciences

D Spirituality
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Question Number : 21 Question Id : 39226622941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Articles and it’s Titles of
RTE-2009

1.
1.
iii.

1V.

Article - 11
Article - 12
Article - 13
Article - 14

b.

~

d.

No capitation fee for admission

Age proof for admission
Establishment of Pre Primary Schools
School responsibilities
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Question Number : 22 Question Id : 39226622942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first chairperson for National Commission for Protection
of Child Rights (NCPCR)

1. Smt. Shantha Sinha
2. Smt. Kiran Bedi

3. Sri Kapil Dev

4. Sr1 Gawaskar
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Question Number : 23 Question Id : 39226622943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The new academic structure suggested by NEP — 2020

NEP - 2020 (388005 S 3}::5“5 ;”Jcﬁétao

I -2 +:3
2. S5+3+3+4
3.  3eSe5rd
4.,  3+2+3+2

Options :
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Question Number : 24 Question Id : 39226622944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s also called “Theory of Reality”

1. Epistemology
2. Metaphysics
3. Axiology

4. Logic
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Section 3

Section Id : 392266732
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266827

Question Shuffling Allowed : Yes



Question Number : 25 Question Id : 39226622945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Duration of retention is very short in this memory

L. Short term memory
2. Sensory memory

3. Long terim memory
4. Rote memory
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Question Number : 26 Question Id : 39226622946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Emotional development is based on the following factors.

k. Heredity and Maturation

2. Growth and Development
3. Learning and Maturation
4. Environment and Learning
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Question Number : 27 Question Id : 39226622947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Inborn abilities that are developed through training are
I Aptitudes
2 Attitudes

Interests

Lad

4. Attitudes and Aptitudes
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Question Number : 28 Question Id : 39226622948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

12 year old boy and 10 year old girl have same mental age. IQ
of boy 1s 100, then IQ of girl 1s

12 ¥Hon 2eendd) 08030 10 Hone eed¥ Srsn ;5055::;:“)
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Options :
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Question Number : 29 Question Id : 39226622949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Find the incorrect pair from the following
1. Spranger — Germany
2. Sheldon - Switzerland

Hippocrates- Greek

Lad

4. Kreshmer - Germany
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Question Number : 30 Question Id : 39226622950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In order to motivate the child towards learning, these needs are
to be fulfilled first

1. Self-esteem Needs

2 Safety Needs

3. Love and Belongingness Needs

4, Physiological Needs
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Question Number : 31 Question Id : 39226622951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

At Post-Conventional level. moral behaviour of a person 1s
controlled by

| & Rewards
2. Individual values

Laws and Traditions

Tad

4. Mutual relations
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Question Number : 32 Question Id : 39226622952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to this psychologist. children learn through the
mteractions with peers and adults

i Bruner

2. Thorndike

3 Vygotsky

4, Piaget
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Question Number : 33 Question Id : 39226622953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding learning laws

i.  Law of Readiness a. Ivan Pavlov
11. Law of fixed ratio reinforcement b. B.F. Skinner
ii. Law of generalization c. Thorndike
iv. Law of discrimination d. J. B. Watson
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Question Number : 34 Question Id : 39226622954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy learnt that holding a lighted candle can burn his hands.
As per Carl Rogers. learning here 1s

1. Discovery Learning

2. Experiential Learning

Lol

Insightful Learning

e

Exploratory Learning
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Question Number : 35 Question Id : 39226622955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Maths teacher assigned five homework problems with the
first being the most challenging. A boy attempted the 1* one,
but was unable to solve it. Despite the difficulty of the
1* problem, he did not attempt the remaining easy ones. So it
shows the importance of the following learning principle.

1. Law of Exercise

2. Law of Readiness

3. Law of Effect

4, Law of Generalisation
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Question Number : 36 Question Id : 39226622956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Cretinism’ is caused due to the deficiency of this hormone.

1. Paratharmone

i Thyroxin

3. Adrenaline

4 Growth Hormone
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Options :
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Question Number : 37 Question Id : 39226622957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Bhatia’s Intelligence Test Battery 1s
1. Individual Verbal test

2. Group and Performance test

[N

Groups and Verbal test

4. Individual and Performance test
o Al L (e =

e @a&mﬂﬁj 0

L SeERS HBain TR B8

2.  FordrE 500w XSS H8Y
3. TSl S0din RE H8Y
4. SERS So0csw XSS H0K
Options :
1. %1
2. %2
3.%3

4.9 4



Question Number : 38 Question Id : 39226622958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This formula is useful to calculate

M
I+ 22— |xC.I
/
¥ Mean for ungrouped data
2, Median for ungrouped data
3. Median for grouped data
4. Mode for grouped data

B3 B0 BA B 0thiold EDBrATL

N
o
[+ 2—— | xC.I
/
e T, a VAT g SR
L oS35S 550ad8 @oKHE 0o
& e - Py i
2. o385 55moTS S§Heo
s . a g
3. 5058 85gmoadd Mhogreo
4. SBEYS 8557088 PO
Options :
1. %1
2. %2
3.¢3

4. % 4



Question Number : 39 Question Id : 39226622959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mouth acts as a libidinal gratification center at this
psychosexual developmental stage

1. Phallic Stage

2. Latency Stage
3. Oral Stage
4, Genital Stage
S s3rE0S TolGor HATD SS"PoRY SO
1. BNHGSY
2. KoRs¥
3 STDEEE
4 BSOS ONGE
Options :
1. % 1
2. %2
3.3

4. % 4



Question Number : 40 Question Id : 39226622960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A software engineer, cried like a child after hearing the news
that he was terminated from the job. Defense mechanism here
is

1. Regression

2. Displacement
3. Fantasy

4. Sublimation

28 D6 g0zG, &G0 0D SOA0IEEN)
T8 ST DY) YT EO® ). )& TEESoGo

1. @}@ﬁ&ﬂ}?&ﬁ
2. ﬁ%_‘;‘é&io
3. EEeyso
4. &odsmo
Options :
1.9 1
2. %2
3.%3
4, % 4
Section 4
Section Id : 392266733
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 392266828
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226622961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
300 >8S" WrEBIY P0AITD’ BST 5I8
1. ebireilobureil IV

Afolape

A

[

PRIl B
=

oW
(Gl

G
o}

X o
Options :

1.%1

2. %2

3.%3

4, 4



Question Number : 42 Question Id : 39226622962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

X:Hoso 570 DB0E’ wedEsod.

o, B8 Y c. Ko

e ITRETROLD 5. Eowhurd Hd¥dono
3. KD QTEE O, 2.2, DRI

L. Hcf:ig LSRN . G"'v}b‘ﬁg @ﬁﬂiﬁﬁ;ﬁ% -‘a':'fﬁé
1. ¥-98-35 3-00 B:-0

2 ®-0,e -3 3-8 8-
3 ®-o,e8-8 3-cdo, 8-
4 ®»-9,8-00,3-0 8:-3
Options :

1.9 1

2. %2

3.%3

4. % 4



Question Number : 43 Question Id : 39226622963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘waan’ easo
i
1 EINOTASar PSS
2 Hx&
3 STeese SO
4 HEHS
Options:
1. %1
2. % 2
3.% 3
4, % 4

Question Number : 44 Question Id : 39226622964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
FH> B8 58
[T, 1 L t{'-.-'
mﬁ)&@é ﬂ?ag
Baiogests 28
8, 5°¢ orioiod - @) §°G oriXared BN (HFONODS ED

1. alet~iled Eﬂé*;)m;@

- -

2. 8,5010 B,AT0T)
3: %n‘ac& @é&ﬁ“ﬁ“cﬂ:m
4. T@Qﬁ:ﬂ& Bplerlovbla Meph)
Options :
1. %1
2. %2
3.% 3

4.9 4



Question Number : 45 Question Id : 39226622965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
DO TO BPS (Sarm) H00U0k.
®@. KD ReoKS’S Seniom
o, X5 KOAS T3 Heorh Fpgn BgS
3 55 SOAT o) TO DS SolG
550 KORS 1B Kewkow

1. 53, 3, O, S

2. 9, 3, 53, &
3. &3, &, ©, 3
4. 53, ©, &3, 3

Options :

1. % 1

2. % 2

3.3

4. % 4



Question Number : 46 Question Id : 39226622966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘DY Ba Hod =E5\E
g3

o
i ELSINOY
2. DIk
3. PG
4. 23°¢2)
Co
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 47 Question Id : 39226622967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
DTOWHY) VIET) HHRDOD, JOKEHIDT ©Pod’
- = ®

BERoBE Doren Bo@ HESOTEeD

1. T ML
[ B % |
. (3 Sd@imﬁ“m
e
3. EE’RSJS"’gEﬁE“E}J
4. A A5ren
Options :
1. %1
2. % 2
3. % 3

4.9 4



Question Number : 48 Question Id : 39226622968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
VOTLHY B3 DTS VOGBS HSIFES
1. i + éac‘iaaj
Dl + éatboj
ey + éatiaoj
22

Bow N

DES + &:3t0)

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 49 Question Id : 39226622969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

208 T8SE° “55” Kerd2 Ho000dS BSo.

1. Eae:éJbraD
2 &35@)@
- — -1
3. SNATERSY
4, 00 @
Options:
1. %1
2.¥ 2
3. %3

4. % 4



Question Number : 50 Question Id : 39226622970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
@3y IeoTH 588°
D0 5063 ey o0& W, AdREDS
ﬁ%;&ﬁ oo Ao
350 0860 FoR0Y MMy Foessy K000 - B3 Soéoen

L (Qae d8S° ex)d.
2. 050068055 Hesedt T,
3. &0y ¥ 9ye5¢5° ©X)O.
4. Gﬁéﬁ @_:gm @aé&aﬁe &m;}fﬁa.
Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 51 Question Id : 39226622971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘@fdi:o’ STed ST

1. nle} &o. ﬁrngc::-

2; es3TP80, WONRFR0
3. (FRsw, &858
4. Doew, B0)

Options :

1.4 1

2. %2

3. %3

4. % 4



Question Number : 52 Question Id : 39226622972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘E’é;‘m@o, 2od) AT0KH ‘é&ﬁraﬂgﬁ pYale)

[ 3 TP
2. €92)002)
=3
3 esd)
[
4. e302208 2300
Options :
1. % 1
2. % 2
3.% 3
4, % 4

Question Number : 53 Question Id : 39226622973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

208 388’ JHPF ooz oE TS

1. §$‘.3JEJ'°5355JO£§3 Esnoen E8sooen
2. 2RKSSES0S 8, arsEsnd® asnd
3. & &m0 oS’ Serdd 58000
4. ABSHAES Bew Bewdome
Options:
1. % 1
2. % 2
3.%3

4.9 4



Question Number : 54 Question Id : 39226622974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“éfgﬂﬁﬁg, &Eﬁ:ﬂ&}.” - ¥Barnhorey Ba e:ée:iat‘bﬁ.’b. Do)
Slslarstil

1. (P, &5@55:-:

2 @J@Dﬁiﬁ, 58
3. B ®ud
4 &59‘5:&5?. e:aﬁacﬂsn
Options:
1. % 1
2. % 2
3.% 3
4.+ 4

Question Number : 55 Question Id : 39226622975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

308 >8S° VKT IS BB I KOS o

i Y]
il Héond
3. aCToTd)
4. ﬁq}%ﬁ)

Options :

1.9 1

2. % 2

3.% 3

4. % 4



Question Number : 56 Question Id : 39226622976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

POTSH $o7e0 ($8Y” TS Soomges K80S08.

1 i o - P
2. ds, o3, ©
3. w1 T
4. &0, o, &
Options :
1. % 1
2.¥ 2
3. % 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266829
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226622977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“aRS° Fioem PY) HDIorr KrY)Eo Sol evogegs
DO DYROWHL), & DT T SIS TS

DB OWH).” &3O B2 GES e ©Fre0

1. ﬁge&mﬁ&ﬁ&
2. (DBgEs
3. Fer¥ FOEHE Bo0S0
wn]as]
4. &55}6;5 RJG"&E’HD
Options :
1. % 1
2. % 2
3.% 3

4. ¥ 4



Question Number : 58 Question Id : 39226622978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Pl

1986 =&as g Aes0S® Ko Sl RIS S

D% @zﬁgﬁﬁ@;m@m Kjgomoﬁ‘lﬁ DLV VOO0 BFLEED.

‘5

1. —é—a%é&i"aﬁ: D85S

2, es&2S. &3
3. S opte!
4. SSdasrE
Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 59 Question Id : 39226622979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

'ﬁaﬁ.”ﬁzﬁ@ s&en 82 rsse egrsSonr Srrodosndsd.
i SCF - 2005
2 SCF - 2011
3. NCF - 2005
4. NCF - 2011
Options:
1. %1
2. %2

3.¥3
4. % 4



Question Number : 60 Question Id : 39226622980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

il

[EO Ddyer weR0 @PbRo
P T8S" BoR0&oB) ©oFTY) KBS
oD |PF) B2 52 Todod.

| 2 0f Ho20d @:@
?..:" L
2 :.aé,_,b’fa (2%
3 D000 %)
4. SR DI (¥
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 61 Question Id : 39226622981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
S gricioes FEERK JIOEBES” oFjOR A)EBWoLrLD.
& O FESH FPITT FETHELere’ o)
1; A& ‘&mﬁsﬁ“ﬁ“dﬁm
2. Sosrcind D6
3 0O &ﬁoaﬁcﬁa-ﬁ“@
L
4. (@6 oo BT
Options:
1. %1
2. % 2

3.¥3
4. % 4



Question Number : 62 Question Id : 39226622982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

DER J© ©H0NT FPIoreTrE (Rrere eSrdonT
DITFER0 PRSI, ST JT§Re DHASE® FOY Sredo

3C

1. (SSrerrdd JEA

2. Erdes OER

3. PoEON NER
4. D @°r0S UER
Options:
1. %1
2. %2
3.%3

4.9 4



Question Number : 63 Question Id : 39226622983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 €9, €3
2. es3, B3
3. e, 3
4. 3, &3

Options :

1. % 1

2. % 2

3.9 3

4. % 4



Question Number : 64 Question Id : 39226622984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Bt we 5 B -5 . a LV T T Yy I B T
DNROGO" B JTP) DONGO' T &ﬂgﬁoﬁm@m Qtﬁ“]a. Q30

1. SNBSS %0

oy |
Lo T P 2 e,
.2 mgw5@5m3 A
3. 27058530
4. @@5355653 S%%0
Options :
1. % 1
2.¥ 2
3. % 3
4, % 4
Section 5
Section Id : 392266734
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 392266830

Question Shuffling Allowed : Yes



Question Number : 65 Question Id : 39226622985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He will go to the party tomorrow.

Choose the negative form of the sentence given above.
He does not go to the party tomorrow.

Z; He did not go to the party tomorrow.

3. He will not go to the party tomorrow.

4, He will not goes to the party tomorrow.

Options:
1. % 1
2. %2
3.3
4. % 4

Question Number : 66 Question Id : 39226622986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence that transforms the statement “They will
attend the meeting.” into a question.
1. Do they attend the meeting?

2. Will they attend the meeting?

b

Are they attending the meeting?

4, Did they attend the meeting?

Options :
1. %1
2.9 2
3.%3
4. % 4



Question Number : 67 Question Id : 39226622987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He looked happy.
In the above sentence, the adjective “happy” has :
1 attributive use
2. predictive use
3 subjective use
4. composite use

Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 68 Question Id : 39226622988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the expression that has a collective noun.
L, a wedge of lemon
2. a book of white pages

a board of directors

L |

4, a cup of coftee

Options:
1. %1
2. % 2
3.3
4. % 4



Question Number : 69 Question Id : 39226622989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I shared a flat with him when we were students.
He (always complain) about my untidiness.
Choose the option that fits the blank.

L. was always complained

1o

1s always complained

[N

will complain

4. was always complaining

Options :
1. % 1
2. %2
3.%¥3
4.¥ 4

Question Number : 70 Question Id : 39226622990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A : This is my house.
B : How long (live) here?

Choose the option that fits the blank.

k- you have been living
2 you are been living
3. have you been living
4. you are living

Options:

1. % 1

2. %2

3.3

4. % 4



Question Number : 71 Question Id : 39226622991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

No one wants to be his freedom of speech.

Choose the option that fits the blank.

1. deprived at
2 deprived on
3. deprived of

4. deprived by

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 72 Question Id : 39226622992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

We built a house beside the factory.

In the above sentence ‘beside’ means.

1. at the end
2 next to
3. infront of
4. across
Options :
1. %1
2.¥2
3. %3

4. % 4



Question Number : 73 Question Id : 39226622993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the primary stress pattern for most two-syllable nouns
and adjectives in English.
1. final stress
2 initial stress

middle stress

fad

4. antepenultimate stress

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 74 Question Id : 39226622994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the syllabic division of the word “discrimination’
1. disc — rim — ina-tion

¢ discri — mi - nation

Td

dis — ¢ri — mi — na - tion

4. di — scr1 — mina — tion

Options :
1. % 1
2. % 2
3.¥3
4, % 4



Question Number : 75 Question Id : 39226622995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

She paid me Rs. 2000/- month.

Choose the article that fits the blank.

1. a
2 an
3. the
4. No article 1s needed
Options :
1.4 1
2. %2
3. %3
4. % 4

Question Number : 76 Question Id : 39226622996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
It is time you

Choose the option that fits the blank.

L. have the holiday
2; had a holiday
3. had the holiday

4. had holiday

Options :
1. %1
2.9 2
3.%3
4, % 4



Question Number : 77 Question Id : 39226622997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The poet who wrote the poem “The Second Coming™ is
1. William Wordsworth
2. William Butler Yeats

William Shakespeare

4, Robert Frost

T2l

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 78 Question Id : 39226622998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The short story “The Gift of the Magi™ is authored by :
1. O. Henry

& A K. Ramanujan

R.K. Narayan

4. Leo Tolstoy

S ]

Options :
1.9 1
2. % 2
3.%3
4, % 4



Question Number : 79 Question Id : 39226622999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct definition of note - making

1. Recalling information without documentation
2, Retaining documentation from various sources through
summarisation

Td

Memorising every detail without noting down

4, Creating fictional stories based on mformation gathered

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 80 Question Id : 39226623000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose an important aspect of the revision process in writing
an autobiography :

1. avoiding feedback from others

2. ignoring clarity and coherence

LS}

continuously revising and refaining

4. keeping the manuscript unchanged

Options :

1. % 1

2. % 2

3.3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 392266831
Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226623001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The affective domain does not constitute one of these

objectives
I Thinking
2. Responding
3 Valuing
4. Characterizing
Options:
1.¥1
2. %2
3.%3
4. % 4

Question Number : 82 Question Id : 39226623002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Constructivist classroom focuses on :

L. Passive listening
2 drawing pictures
3 making models
4. active engagement and reflection
Options :
1. %1
2. %2
3.%3

4. ¥ 4



Question Number : 83 Question Id : 39226623003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

FBP stands for :

1. First Base Project
2, Field Based Project
3. Financial Based Programme

4. Field Based Personality

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 84 Question Id : 39226623004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Communicative approach is the extension of :

1 Audio-lingual method
2, Notional Functional syllabus
3. Bilingual method
4. Structural syllabus
Options :
1.41
2. %2
3.%3

4. % 4



Question Number : 85 Question Id : 39226623005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The materials which are real can also be termed as :
1. Simulation material

2 Substitution material

Tad

Supplementary material

4. Authentic material

Options :
1. % 1
2. % 2
3.%3
4.¥ 4

Question Number : 86 Question Id : 39226623006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a recommendation of NCF 2005

1. Three language formula
2. Focus on mother tongue

L

Multilingualism

4. English medium is made mandatory

Options:
1. %1
2. % 2
3.%3
4.¥ 4



Question Number : 87 Question Id : 39226623007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Desuggestopedia 1s
an ELT method
2. a system of lesson planning
3. an evaluation procedure
4. step in micro teaching
Options :
1.1
2. %2

3. %3
4. % 4

Question Number : 88 Question Id : 39226623008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Micro — teaching is

1. a research method

-2

a procedure of evaluation

(S ]

a subject approach

4. a training technique

Options:
1. %1
2. %2
3.%3
4, 4

Section 6

Section Id : 392266735
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory



Number of Questions : 24

Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266832
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226623009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the TRUE statement
L Eighty nine millions = 76654322 + 13245678

i Seven hundred thousands = Seven millions

Tk

Eight hundred fifty million five hundred seventy three

thousand and sixty four = 850573064
4. Googol-plex=100 raised to the power of Googol

208 TS VY (HIBTY Mook

1. I S°A)8 ng:;.g% = 76654322 + 13245678

I= o e v - W Ty Ty o i
2 i) OGO Jew =i WO
3 DO HoGe Ay HOhY P Jote

4. 9@#5‘;@_’5& = Kehtd Sao¥). 1005 B
Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 90 Question Id : 39226623010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

; Ve i, 2 ;8
If a number is divided by P the result 1s et Then the

number 1s

2 o B
2. Popgd — D 2PAR HOB0 — DA, & Sogg
b 2
16
.  —=
9
3
2. =
4
2 16
s =
19
4. 4
Options :
1.9 1
2. % 2
3.% 3

4. % 4



Question Number : 91 Question Id : 39226623011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Cost price of a pen 1s T 120. If a shop keeper sold the pen for
a loss of 9% then the selling price of the pen.
25 2) FHRe X 120. Gosaamrie & i) 9% S80S

@Eb&e'ﬁ es ';:55.39) &9;53&5@ S

L. < 110.20
2. < 109
3. < 109.20
4. < 130.80
Options :
1. % 1
2. %2
3.¥3

4. % 4



Question Number : 92 Question Id : 39226623012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The amount to be repaid on a loan of T 10000 for l%years at

10% per annum compounded interest for half yearly.
of VOFB)BIDIL W8P S5& HER%Ew $SAS T10000 SO
=] Lo Q8 o —

. e | SA— o e
¥05e8YT08 10% a%ﬁméﬁ 1058\ S RIIIRLRYY

F0EO
1. < 13000
2. < 14500
3 < 12100
4. T 11576.25

Options :

1. % 1

2. % 2

3.%3

4.9 4



Question Number : 93 Question Id : 39226623013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the adjacent angles of a Parallelogram are equal. then itis a

L Square

2. Rectangle

3 Trapezium

4. I[sosceles trapezium

B0l a@;fﬁaa)amés SN Seren PS50, ©90S
@l 2.%
1 edlRdo
2. QESEBB0o
ol
3. P02 5&35@@0
. 5 ﬁmﬁ?saj‘ﬂm Voo ijeﬁsdaﬂzso
Options :
1. % 1
2.9 2

3. % 3
4. % 4



Question Number : 94 Question Id : 39226623014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Number of all possible ways for naming the given line,
choosing only two letters at a time from the four given points
3N2ES D008 4 DotHYos® (PFBFD Dok VLT O™
BROHA HEFTPH D TAEAI F Ry AT VoRs

- . ] ] & -
A B C D
1. 3
5.3 6
3 12
4. 8
Options :
1. %1
2. % 2
3.¥3

4. % 4



Question Number : 95 Question Id : 39226623015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Each interior angle in a regular polygon is 135°, then the
polygon 1s

1. Pentagon
2. Hexagon

3. Heptagon
4. Octagon

2.8 (5 aozha o“:uﬁb_ aa""’b_ﬁb @06¢58 5°%00 135° @amss

&3 g
| FIeIRTABE.
2 ?’qiiazja?
3. B%eha
4 XA
Options :
1. % 1
2. %2
3.%3

4. ¥ 4



Question Number : 96 Question Id : 39226623016 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A pentagon based prism has

1 Faces = 7. Edges = 15. Vertices = 10
7.3 Faces = 6. Edges = 13. Vertices = 8

T4l

Faces = 5. Edges =11, Vertices =6
4. Faces = 5. Edges = 13, Vertices = 10

wWowsersy é%ﬁ&:ﬁaﬁﬁ:

1. Sogren =7, eowoen =15, %T:.m =10
.4 20T = 6, wowen =13, %E{;&u =8
3. Soogren =5, eodhen =11, %o;m =6
4. Sogren =5, eoien =13, 3oien =10

Options :

1.4 1

2. %2

3. %3

4. % 4



Question Number : 97 Question Id : 39226623017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Ifa+ b+ c=2pthen [(p—n}l+(p—b)1+(;:r—f'}l+pl] 18
a+b+c=2p ecnd [(p—ﬁ):+(p—f)]3+(p—£‘)j+pj:| ISV
1. p+a+b +c

2 2 . 2

p—a =b —=c

-2

Tad

Ap*+a’+b* +c’

4. e T

Options :
1. %1
2. %2
3.%3
4, 4



Question Number : 98 Question Id : 39226623018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Charan’s age is twice to Karthik's age. Ten years ago his age
was three times to Karthik’s age. The present ages of Karthik
and Charan respectively (in years)

S ScR0) 5785 56500t B0 10 VoSS T (380,
& ScHik) 5705 SR Narcidey. ([Fado 788

3500650 355 SasR0)e (m;ﬁe:é“]me:é*)

1. 40. 20
2 20. 10
3 20. 40
4. 15.30)

Options :

1. %1

2. %2

3.3

4. % 4



Question Number : 99 Question Id : 39226623019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If 3600 is expressed as 27 x 3° x 5° then the value of (n*)c
will be

3600 S 27x3°x5° 1 5¢¥ DO (o) e

1 128
2 256
3, 512
4. 1024

Options :

1. %1

2.9 2

3.%3

4. % 4



Question Number : 100 Question Id : 39226623020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

True statement/s related to LINEAR GRAPH from the
following

A. A line graph displays data that changes continuously
over periods of time

B. A line graph which is a whole unbroken line is called a
linear graph.

1. A and B both are true

2 A 1s false and B 1s true
3 A 1s true and B 1s false
4. A and B both are false

B> DG ¥02080D (208 FIS® HE§ (PISTen

A. 5o Eéséﬁc‘.‘i:e:.ti: 2 0MIEIONT DP0EE0 wﬂﬁaeﬁaa‘a
BIFToemH Krond Bhdh Ao

B.  DR0deEd g S8l Gy g ThHab o
0L,
1 A 58650 B Bodr me:sézﬁ;
2. A e:}m:ég:} 200ad» B ﬁﬁéo
;% A ﬁéﬁso S08adiw B &Jﬁiﬁgﬂ
4. A 58a50 B Boir @K}ﬁ'éfu
Options :
1.9 1
2. % 2

3.%¥3
4. % 4



Question Number : 101 Question Id : 39226623021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Modeofdata: 1.2 1.3.4.3.2.2.3. 1. 4. 415

i 1

2. e

3. 1.2.3.4

4. does not exist

L2113 4322314 4 Do) er5ovso

=t
el

1 =9 (o8] 2
T

N

o

=

Options :
1. %1
2. % 2
3.%3
4. 4



Question Number : 102 Question Id : 39226623022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Subtract 21 kg 62¢g from 160 Kg 330 g

I 138Kg 710 g

2. 148 Kg 710 g

3. 139 Kg268 ¢

4, 149 Kg268 g

160 3.7 330 (/™. o0& 21 .. 62 (. Daod.

L. 138 3., 710 (.

2. 148 34w 710 |/
3. 139 & 268 |
4. 149 3. 268 .

Options :

1. %1

2. % 2

3.¥3

4. % 4



Question Number : 103 Question Id : 39226623023 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The diagonals of a Rhombus measures 16cm and 30 cm then
the perimeter of the Rhombus in cm 1s

2% oroDH &Y, sTo Fodes 16 20.5. $8a% 30 Do.h.

QQ0N TP ?..ijé.;e% erés 20.20.08°

L 17
2. 46
3. 68
4, 192

Options :

1. %1

2. % 2

3.3

4. % 4



Question Number : 104 Question Id : 39226623024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The edge of a cube is 15cm then the number of cuboids with
dimensions 4.5 cm x 2.5 cm x 1.5 ¢cm can be placed 1 it are

15 20.20. @0 Ko 20508° 4.5 0.2, x 2.5 0.2, x 1.5 Dok,

E-:U . - wl w al
odien Ko fﬁg D0 o:a% 00PS

1; 150
2 200
3. 250
4. 300
Options :
1. % 1
2.¥ 2
3. % 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266833

Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226623025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Mathematics 1s the Science of Quantity” is stated by

1. Young
2. Aristotle
3. Bacon
4, August Comte
"He3o DBIrero(REn el V)T TESE
1s csooh
2. ©0x8S
3. B5S
4. esky 553
23 a2
Options :
1. % 1
2.¥2
3.% 3

4, % 4



Question Number : 106 Question Id : 39226623026 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Educational value of Mathematics that belongs to Breslich
classification 18

1. Information
2, Concepts
3. Attitudes

4. Abilities

BRe 5858 35750 N3 Aoy eSO TodID
I Peb L ele

2. ESen

3. cﬁga"“n}a"m

4, ﬁl“mﬂ;sm

Options :
1. % 1
2. %2
3.¥3
4, % 4



Question Number : 107 Question Id : 39226623027 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The book ‘Introductio Arithmetica® was written by

1. Nichomachus
2 Thales
3. Edoscus
4. Plato
OleSE 3D SIS %S0 oo T°50
B €3 o) — \
1 DE D
2 5
D
3 cgﬁuf%ﬂrﬁ
4 FeS
Options :
1.4 1
2. %2
3. %3

4. % 4



Question Number : 108 Question Id : 39226623028 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following objective that does mnot belong to Affective

domain

1. Characterisation
2. Responding

3. Organisation

4. Naturalisation

53 308 FIS° PP IFEORINSLD BOS S
i T EEIE SN0

o}
2 @:@‘;}Joa{}iﬁm

3. ;5553"?.’:550

&
4. B5R58e0
Options :
1. % 1
2. % 2
3.%3

4.9 4



Question Number : 109 Question Id : 39226623029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Intellectual activity in the following

1. Analysis
2. Experiment
3 Demonstration
4. Field trip
308 AS” TR DEJS K)Sga»
_I.'g e
1 ﬁcga;gou(‘;o
2. (DSBTRa0
3. Q.:’ﬁt‘;’gsﬁ
ﬁ_ st L
4. a@atﬁé&m
Options :
1.¥1
2. %2
3. %3

4. % 4



Question Number : 110 Question Id : 39226623030 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A teacher should not allow this as a facilitator in teaching and

learning
1. Recognize the interests and diversity of children
7.4 Not exercising authority over learners

(S ]

Encourage learners on mere repetition

4. Give opportunity to learners to critically question the
knowledge they acquired

oJ ) ¥ :\:'{L\.; r:- = = \ \.::l::.-' ./kﬁf‘::i\:l E\J-J;A; H-'.M.J G:m
*C"E«:;aﬂ;ig"’ &° m*‘ﬁﬁy"gﬁ c‘mcﬁsm 29000 PO ETE

L0 F 000
1 DO e3NXien, ?ag)cz‘sa:r&’i; 000 Eo
m — [+ o —
2. {00 80570) BLP00WE0kE
- o -
3 oS’ DTSR (PE)Tros
4 aaﬁééﬁw €505 0ol zs;_m% Janores 1 o
(@3)00 ©55°¥0 S9)0we
Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 111 Question Id : 39226623031 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This software 1s not useful in Mathematical teaching and

learning

1. Geogebra

2. Equation Grapher
54 Methacad

4. Chemdraw
m%@_aessamsémﬁa GEHBREGO S P06
1. adrder
2. &EHS (b
3. D&
4. 3E
Options :
1. %1
2. % 2

3.%¥3
4.9 4



Question Number : 112 Question Id : 39226623032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not shown in Blue print

1. Weightage to the Academic standards

12

Weightage to the content

L |

Weightage to the questions
4, Weightage to the difficulty level
B 2rEEs S (axg20s) S° Sg¥o I,

1. 2-;::15 (PRTETO a,ﬂc’e_a;sw

2 o) oo EJ'-‘&@&OSD..J..J

3 ;g:a:é__l@ E,PESGDSMJ.J

T = T P 2 =

4 quwwmx.al.a 2,:'-'3\..-!?.‘3':5:-.».-1:'
Options :
1. %1
2. % 2
3. % 3
4. 4

Section 7

Section Id : 392266736
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266834

Question Shuffling Allowed : Yes



Question Number : 113 Question Id : 39226623033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose correct statements regarding climate change

A, UNFCC — United Nations Framework for Convention
on Climate Change adopted in 1992.

B.  COP — “Conference of Parties’ is the Supreme decision
making body of the convention.

2] COP — 29 was held in Baku. Azerbaijan

1. A, B only
2. B. C only
3. A B.C

4, A. C only

TEHE Jrh)eH BOWOROD IPN IO KoLk,

A, UNFCC - oXosmid sesen Sri)e iy
S0 - 1992 &° (LBOSESH.

B. COP —‘mﬁ% &P PHT VITIEY S
K]goﬁ:was‘tf HEALle

C.  COP-29 %¢&%0) eub8zs &7 2rd” 3000.

1. A BSegd

2. B,C3mgd

3. ABC

4. A Cor&d

Options :
1. % 1
2.9¥ 2
3.%¥3
4, % 4



Question Number : 114 Question Id : 39226623034 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the character of a “Species’
A.  Capable of mterbreeding
B.  Having common characteristics

. Reproduce fertile off spring only with the member of
the same species.

208 FS" =8’ oXEToD KGOS0,

A @088 HOSTE)B FYo SOR &oe.
B. &5&&& o¥erec SOR &otod

C

2 DY’ IFED OTOFDT VorTRY) &H\B

D08
L A B
2. B.C
3. A
4. A B C
Options :
1. % 1
2. %2
3.%3

4.4 4



Question Number : 115 Question Id : 39226623035 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A.  Fish L. Cutaneous respiration
B. Grass hopper IT. Pulmonary respiration
C. Earthworm III.  Bronchial respiration
D.  Whale IV.  Tracheal respiration
E08 58D =EHTB0G

A DB L 88y ayodad

B. e I 999 axddad

C T30 I [oodye oo 63?{’::@0:1;
D. &oreo IV. &cose é‘:‘)‘{n@cﬁa

1. A-TI, B-I. C-IV, D-III

2. A-I. B-1IV., C-II. D-II

3 A-TI, B-IV, C-1. D-1II
4. A-II. B-II. C-I. D-IV

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 116 Question Id : 39226623036 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the correct pathway of primary urine flow

1. PCT — DCT — Loop of Henle — Bowman'’s capsule
2, Bowman’s capsule — Loop of Henle - DCT — PCT
3. PCT — Bowman’s capsule - DCT — loop of Henle

4, Bowman'’s capsule — PCT — Loop of Henle — DCT

(P Har(@0 Boo¥), ¥JI (BT Iro7R) KrB0Boék.
1. PCT - DCT eﬂma%ﬁ?so oy 5&’:@5\3 oD
2. e'p"';:'u% Ko %EPEJ}%ESG - s DOT 5 PCT
3. PCT —}23“;5:,53 X9% —» DCT %ﬂma%ﬁgo
4. 5%53 Xo9% — PCT —>-;:n§ﬁg§o > DCT
Options :
1. ¥ 1
2. % 2

3.%3
4.9 4



Question Number : 117 Question Id : 39226623037 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the pair of plants with unisexual flowers
1. Mustard. Petunia

2. Corn. Cucumber

Petunia. Cucumber

4, Com. Mustard
DEDOK Paryeo Ko Do¥) o =& KHYoS0s

L |

e33ve, ?.:é:mgﬁ]cﬂr
2 Soo) &9, &%
5, % _;::é.még)oﬂ?. &5
4. ?:L:;:.sﬁb_é‘;a, e3oe
Options :
1. % 1
2.9 2
3. %3

4. % 4



Question Number : 118 Question Id : 39226623038 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the bacterial disease in plants
L Yellow vein Mosaic

Rust of Wheat

Tikka disease

-2

(S ]

4. Citrus canker

ook, 08" wrgdasr TR KHBoS0E

1. PO Hioe Izcans
3 RE50:508° 0% Bien
3. éSE“E]_ Broew
4. DS P08

Options :

1. %1

2. % 2

3. %3

4. ¥ 4



Question Number : 119 Question Id : 39226623039 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the false statements

L. Unicellular organisms have one celled body

I1. Nerve cells are unbranched

III.  The basic living unit of an organism 1s an organ
IV.  White blood cells have irregular shape

2057 (PIUsred Miotodk.

L. Dxxes Agen o8 eQ) SOA &oeraw.

II. &8 Seven TgrSdrdon &odr o,

ML 23S (T o e ¥ (D360 &350

IV. Se 5% 00008 eS80 60860
.L-H-.', —r mmn—

1. I.I
24 I1. IIT
3 I IV
4 I g

Options :

1. %1

2.¥ 2

3.%83

4. % 4



Question Number : 120 Question Id : 39226623040 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pair

L. Pantothenic acid — Burning feet

2 Phylloquinone — Blood clotting

3. Cyanocobalamine — Pernicious anaemia
4, Pyridoxine — Nervous disorders

PO W MHBoWok.

L >ofSBNE &0 - 576 S0k

2. PS°HSS - Y¥o Kk

3.  HArSEroRnd - SIAEY SEaeses

4. POTE)S - ;G wBdITiEen

Options :
1. %1
2. %2
3.%83
4. 4



Question Number : 121 Question Id : 39226623041 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Migrating birds fly in a V — shape because

1. The elder bird leads other birds

2 To separate male from the female birds
3. To avoid loss of energy
4, To protect themselves from other birds

$0% Bpen V-e57808° JKEEE 52860

L ‘;:%‘.i D§ J00GBOMT &0& TPOETYHLE0D

2. i dPpod e& DHo $0& IHBAHEIS
3. 83 Jap)) B0
4. 38Y DPHO 000G Eol L0 FF0wEHL%H
Options :
1. %1
2. %2
3.¥3

4. % 4



Question Number : 122 Question Id : 39226623042 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The head of matchstick consists of

1. Antimony sulphide, Potassium chloride and Red
Phosphorus

2. Antimony tri sulphide. Potassium chloride and white
phosphorus

Antimony sulphide. Potassium chlorate and red
phosphorus

Ll

4, Antimony trisulphide. Potassium chlorate and white
phosphorus

oo S0griosS” &oad
1L 0830 @a PerRA50 5BE 50a5
i
T aﬁ‘%do
2. o083 (BHP)G, Terado FBE 508w
=) 2.3'%550
3. ©oB3nd 9B)E, Ferhcio 5BE 50w AY LYo
4 o083 (BHP)G, Terhdbo FTE Mo
@f‘% 2.??2’33:‘.50
Options :
1. %1
2. %2

3. % 3
4.9 4



Question Number : 123 Question Id : 39226623043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This liquid cannot conduct electricity

L. Acidic solution
2. Basic Solution
3. Vinegar

4. Cooking oil

B3 ([P0 510G DEFEW (PII0DBE

1. tﬁéﬁ;@“&it‘ao
[ap)]
7z Tﬁ@*éﬁrao
[ -]
3. 3IKE
4, 20T
Options :
1. % 1
2. % 2
3.% 3

4.9 4



Question Number : 124 Question Id : 39226623044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One litre of water at 20°C 1s mixed with one litre of water at
60°C. The temperature of mixture will be

1. 80°C
2. 20°C
3. More than 60°C

4, Between 20°C and 60°C

20°C &) 1 Derthy HBd 60°C &%) 558° Herf Hast
Keoneds0. $3 W(FHo Bk &P
1. 80°C
9. 20°C
3, 60°C 557) )5
4, 20°C 500& 60°C %065
Options :
1. %1
2. % 2

3.%¥3
4.4 4



Question Number : 125 Question Id : 39226623045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An mexhaustible natural resource among the following is

I Coal
2. Petroleum
3. Forest

4, Sunlight
2080 7AS® SER DIrE S5H

1. SN
N
2. SO0
3. e9( )0
4, méﬁéﬁ%é
Options :
1. % 1
2. % 2
3.%3

4. ¥ 4



Question Number : 126 Question Id : 39226623046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the materials used to prepare NYLON

K Coal

L. Petroleum

M.  Water

N. Air

oS B5r8S” T DoTo KHYoS0E.
K. ?59.)23"2\%

L. E*dano
M. &%
N. é)

L. K.LLM.N

2. KI1 M
3. KI.N
4. K.M. N

Options :

1. %1

2. % 2

3.% 3

4.9 4



Question Number : 127 Question Id : 39226623047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s provided in building to protect us from electrical
shocks due to the leakage of electrical current.

I Lightning
2. Charging
3. Earthing

4, Electro Plating
AgS P dBR Sy IgE TFo H0& Y
BOBFOHESEO T8 P5Tes” 38 Aomyin Sabeheod.
1. B8R
S lelel

&2

JBoAR

oW N

Qe@g&oﬁ

Options:
1. % 1
2. %2
3.3
4. % 4



Question Number : 128 Question Id : 39226623048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct matching regarding asexual reproduction in

plants

1. Budding a. Spirogyra
ii. Eyes b. Bread mold
ii.  Fragmentation £ Potato

iv.  Spores d. Yeast

30K, ©BOAY (HE5E8)BI $02090D ¥BS e MHYOBOE.

i RooReSERED a. '@J@"’ﬁm
ﬁ v
i 5 b. BE S
[
111. E.j:uifb_@méa e} 2pegoeSt
V.  2SDHzren d. B35
L ] 23
I, 1-d. 11-b. 11-c¢. 1v-a
2 1-a. 11-b. 1-c. 1v-d
3 1-d. 11-a. 11-b. 1v-c
4. . e dika. b
Options:
1. % 1
2. % 2
3.% 3
4.+ 4
Sub-Section Number : 2
Sub-Section Id : 392266835

Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226623049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Teaching of science means engaging children in scientific
processes.” 1s stated by

1. Plato

2. Gagne

3. Edison
4, Linnaeus

PR 5700550 ©08 oo TR HIEcHS” b0

&Jﬁnlisé.ﬁﬁ“ Sordin” @d BOHISO.

1. e
o2
2. m‘rb
3. 55
4, @E‘acﬁoﬁ
Options:
1. %1
2.9 2
3.% 3

4. % 4



Question Number : 130 Question Id : 39226623050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Required additional information for teaching of lesson must be
mentioned in this step of lesson plan

1. Teaching item
2, Teacher’s notes

Teaching strategies

Td

4. Teachers responses
FeR) STOOBEIL SHODS BSSY DI o)
TGOS B3 Fros® SIreH Ie5rd
1. S T0¥0
2. &worgsve S°e0)
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Question Number : 131 Question Id : 39226623051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to National Curriculum Framework -2005 number
of themes in both Physical science and Biological science
respectively are
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Question Number : 132 Question Id : 39226623052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to affective domain

1. Receiving

2 Naturalisation

3. Characterization
4. Valuing
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Question Number : 133 Question Id : 39226623053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This teaching method 1s suitable to teach ‘locomotion in Hydra

1. Lecture method
2 Problem solving method
3. Project method

4, Laboratory method
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Question Number : 134 Question Id : 39226623054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The main objective of INSPIRE award scheme is
1. Establish laboratories across the country

2 Attract meritorious students towards scientific studies.

LS ]

Making teacher as innovators

4. Reaching of information technology knowledge to
village level.
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Question Number : 135 Question Id : 39226623055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A teacher wanted to observe communication skills through
pictures. Hence he prepared the question paper accordingly.
The character of good test reflecting through this is

1. Reliability
2. Validity

sl

Objectivity
4, Comprehensiveness
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Question Number : 136 Question Id : 39226623056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following i1s NOT related to student centered
approach

1. Scientific method
2 Heuristic method

Historical method

L |

4. Assignment method
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Options :
1. %1
2. %2
3.3
4, % 4

Section 8
Section Id : 392266737
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266836

Question Shuffling Allowed : Yes



Question Number : 137 Question Id : 39226623057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The easternmost longitude of India is
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Question Number : 138 Question Id : 39226623058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The number of kilometres that the Universe 1s expanding per
second 1s
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1) 170
2 150
3. 70
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Options :
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Question Number : 139 Question Id : 39226623059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statements about “Grid’
A, Itis the network of latitudes and longitudes.
B. It helps to know the exact location of a place.

2, To know the information in a grid, latitudes are
observed first and then longitudes.
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Question Number : 140 Question Id : 39226623060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English East India Company appointed representatives of
king in Indian States after this battle

1. Plassey

2. Buxar

LS}

Srirangapatnam
4. Arcot
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Question Number : 141 Question Id : 39226623061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The President of the Indian National Congress in 1887 was
L. Dadabhai Naoroji

2 W.C. Bonnerji

3. Badruddin Tyabyi

4. Pheroz Shah Mehta
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Question Number : 142 Question Id : 39226623062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The book *Geetha Ratnavali® was written by

1. Jayapa Senani
2 Palkuriki Somanatha
3. Nanne Choda

4, Vidyanatha
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Question Number : 143 Question Id : 39226623063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The period of early agriculture where new types of stone tools
were used 1s

1. Palaeolithic Age

2. Mesolithic Age

]

Bronze Age

r

4. Neolithic Age
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Question Number : 144 Question Id : 39226623064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statements regarding the composition of
the Legislative Council

A 1/3™ of the members are elected by the local self-
governing bodies.

B. 1/6™ of the members are nominated by the
Chief Minister of the State.

¢ 1/12™ of the members are elected by the Teachers
Constituency.

D. 1/3" of the members are elected by the Legislative
Assembly.
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Question Number : 145 Question Id : 39226623065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mismatched pair.

Young Bengal Movement - Henry Louis Vivian
Derozio

2 Rama Krishna Mission — Swami Vivekananda

3. Satnanu Movement — Haridas Thakur

4, Brahma Samaj — Raja Ram Mohan Roy
PO~ WS MQowodk.
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Question Number : 146 Question Id : 39226623066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The people of Nepal adopted a new Constitution for their
Country in the year.
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Question Number : 147 Question Id : 39226623067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify one of the members of 1953 State Reorganization
Commission from the below

1. I. B. Kripalani
2. K. M. Munshi
Lal Bahadur Shastri

K. M. Panikkar
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Question Number : 148 Question Id : 39226623068 Question Type :

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The Union Carbide factory located in Bhopal was a

1.

T4l

4.

Fertilizers factory
Cement factory
Nuclear power factory

Pesticide factory
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Question Number : 149 Question Id : 39226623069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Dr. Abdul Kalam died on 27" July 2015 while addressing the
students in this city

L Guwahati
2. Imphal
4. Shillong

4, Agartala
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Options:
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Question Number : 150 Question Id : 39226623070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This city was famous for ‘mulmul and Jamdani weaving
styles” during 18™ century in India

1. Dhaka
2 Karachi
3 Bombay
4, Surat
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Question Number : 151 Question Id : 39226623071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s one of the most progressive social teachings of

Gurunanak

1. Denunciation of the caste system
2. Knowledge acquisition

3. To know the mysteries of nature

4. Respecting life
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Question Number : 152 Question Id : 39226623072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chandragiri Fort was built by

1. The Yadava Nayakas under the control of the
Vijayanagara rulers

7. The Reddi Rajas under the control of the Vijayanagara
rulers
3. Pallavas
4. Cholas
SO|EAD Seasd 18)0DT .
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Sub-Section Number : 2
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Question Shuffling Allowed : Yes



Question Number : 153 Question Id : 39226623073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘To describe i one’s own words about an event witnessed or
action taken.” The Academic Standard here 1s

1. Appreciation and Sensitivity
2 Information Skills

3. Mapping Skills

4. Conceptual understanding
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Question Number : 154 Question Id : 39226623074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In this year. the West Bengal Legislative Assembly recognized
Bengali as the official language instead of English
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Question Number : 155 Question Id : 39226623075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Equality. Social justice. respect for individual etc... are to be
included in the curriculum without discrimination of gender.’
is suggested by:.

1. National Curriculum Frame work - 2005
2. RTI - 2005
Child Labour Act - 1986

Tad

4, Yeshpal Committee
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Question Number : 156 Question Id : 39226623076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
It 1s not a guiding principle for designing a textbook
L Follow integrated approach

2. Making children for examinations

LS ]

Opportunity for self-evaluation

4. Continuous comprehensive evaluation
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Question Number : 157 Question Id : 39226623077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It is NOT a part of the National Core Elements prescribed by
the National Educational Policy - 1986

I History of India Independence Movement

2. Constitutional Responsibilities

fad

Sustainable Development Goals

4. Equality, Democracy and Secularism
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Question Number : 158 Question Id : 39226623078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mapping skills mainly include these components

A, Map drawing
B. Map Reading
4 Map Pointing
D.  Making documentaries
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Question Number : 159 Question Id : 39226623079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It 15 a precursor to “Synthesis’

1. Analysis
2 Inductive
3. Project

4. Deductive
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Question Number : 160 Question Id : 39226623080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It 1s NOT a characteristic of an activity

1. Should be thought provoking
2. Should not allow multiple responses
3. Should be objective

4. Should be practical
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